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Q1. Which one of the following polynomials matches the graph:

{ @ P(x) = x(x + I)(x~2)°
- 3.0+
b. P(x)=-x*(x+1)(x-2)
20+
c. P(x)=-x(x+1)*(x-2) Lod
d. P(x)=(x+D*(x— 2)° 40 30 a0 ~tlo 10 20 30 40
e. P(x) = - x(x + 1)(x—2)° 7T
204
3.0+

QQ If the remainder of dividing P(x) = x* —8x? — o +1 by x+2 is3. Then P(-1) isequal to:

a. 6 5.3 c. 4 d. -3 e 0
O

Q3. The sum of all rational zeros of the polynomial P(x)=2x*-19%> +51x*> —31x+5 is:

aw

11 17 1
0 5) -5 i 17 1
%) )95 9 2 ° 3

Q4. The polynomial P(x)=3x*+7x* +3x+7 hasat least one real zero in the interval:

a.[-1,0] b. [-2,-1] Li [-3-2] d. [0,]] e. [1,2]



Q5. If (1-i) isazeroof P(x)=x*-7x>+18x> —22x+ K, then the value of K is equal to:

-1

\ 1
-2 [(b12 = d. 0 =
¢ C “1 “I

Q6. The graph of p(x)=-2x* +8x* is below the x —axis on the interval:

a)(-2.0)00(0,2) 5)(-2.2) ) (~0,-2)u(0,2) @"(_oo,_z)u(z,w) &) (-2,0)U(2,®)

Q7. The polynomial p(x) of lowest degree with real coefficients that has zeros i(multiplicity2), and 3 is

JEEN

{\fz)/ p(x)=x"-3x* +2x° —6x* +x-3
b) p(x)=x"-3x*+2x>-6x*-x-3
¢) px)=x"-3x"-2x> +6x>+x-3
d) p(x)=x"+3x* +2x* -6x* —x-3
e) p(x)=x"+3x* +2x> +6x* +x-3




